%

/ .JS.mVOJ_S\

Hoalio P 1 jhd U S2gS gl olall 515850 18298058
Hoalio OF b8 U S2gS sl ladl (515855 18298048
3 ou T g JLisd I (5 uSgl> Cug> jid oo jgmo Suil o lagSs ¢

S algl sulo S gloslgiwl Luivl cpibls 685 (5l wuwlio V (glos S
el g 0u% ousi (59 )L L dLBL0 B jleio b JSui L U&u_:l OlehS (juuzesg
Sulad;0 SeS 648 il Jigamg g Sl 3018 6y oshd

9Jb U S <l au

9L 633,15g55 (5l Sl g

s :

LvC

Jg+a=o b 2 6 lasd

SogS JSui VoS SVC

Syje IS VoS LVC

Sy S

59 &L

Sl (5l Eolusw



50.0mm
—— ——
[1.97in]

HOLE
M4/M 31.8mm
ACES ™ Dasa) [

o 13.5mm
[0.53in]
1
I * I
22 | 32.5mm
g [1.28in]

[CRE

M2.5 x 0.45 LOCKING SCREW
2.0mm [5f6in] HEX
/ @51.5mm [{2.04in] TEST BALL

=}

[@0.24in] TEST BALL

1 ™

MINUMUM ADJUSTABLE HEIGHT
17.0mm [0.67in)

N

=

— I
BAXIMUM ADJUSTABLE HEIGHT
&5.7mm [2.59in]
75.7
1 [2.98in)

| —

M4 x 0.7 NYLON TIP SETSCREW
e FORSECURMNG OPTIC
2.0mm [5/64in] HEX

LARGE ADJUSTABLE CLAMR
PM4/M (INCLUDED)

f

Z49mm
[0.98n)

mm

63.5mm
[25.’\}\]

METRIC ID MARK

12 8 C[.
[0.49in]
25.0mm A, 9 Frmm

(0.5 ' * [2.25m]
f 20.0mm
[0.755n)
M4 x 0.7 MOUNTING HCILE—/ f‘

A PLACES

21 Emm

= [1250]

Jgra=o pb

Sy S Ve S

SwlSogil

Sy S

3

o
2
‘a3




LJ.S.A'bVOJ_.S\

S29S USib V 648

SlSogil

A4 % 07 MOUNTING HOLE
Z.drnem [0.2%in] DEEF
FOR MOUNTIG ADDTIONAL P/

AND EXTENSIONS [MOT INCLUDED]
14 % 0.7 NYLOM TIP SETSCREW | 34 Oerem
FOR SECURING OFTIC 30.5mm 4 43in]
20 [S/&4in] HEX [1.20m] H
191
™ [o7sa] ™ :
2.5mm LOCKING SCREW
2.0mm [5/44in] HEX
@208mm [@0B2in]
/vmxmum MOUNTING DIAMETER == -+ <= e e mee
& : E
M4 x 0.7 MOUNTING HOLE
40.3mm /— 2 PLACES
[1.59n] 33.5mm
; [132n) S7mm &1mm
17.3mm i [027in] 1— [024in]
[0.681] 8.9mm @
{ [lossi] 3
.
j U
0’>'nm o = 9.5mm
[0.40in] [0.38n) .a‘
MAXMUNM CLAMPING HEIGHT B

!
|
METRIC I MARK— ] ] *
2] * ¢ 20.3mm
20.3mm |o.acin]
[0.80i0] |

\_ — 9 Smrn
@0.5mm [ @0.02in] [y [ o38N

MINIMUM MOUNTING DIAMETER

8

Jgra=o ol 2 0 jloud

S295 S VoS e




